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  ) �$# 7(   كيمياء            

   
   . H : Z = 1 ، C : Z = 6 ، Cℓ : Z = 17 :���� ا���د ا��ري �
�رات ا������) 1         

� ا��رات ا���آ�رة �����) 1.25  1-1�    .أ'& ا�%$�� ا#� �"و��� � � 
2-1  1.50 (���آ%�، 0/ اآ�. ا�,�- �,+ ا��$*�رة �����آ%�ت ا��2345 ذات ا�,��7'"ف ا��2345ت ا�� :C2H4Cℓ2.  
�� أن �=� �?< ا�%$�� ا�=$���� � CHCℓ3أ'& >�;�� آ"ام ��2345 ا� 
�رو:�رم ) 1.00  3-1
  .  �2345CH4 ا���;�ن ، '

         2 ( ��B���
�ورة ���X%" '$,"ا آ�� ��
C ، و�$3 3' ��Dر�Eا� F��%G ي��H<6إ� �"و��ت  .  
� MNل ا��">�. ا��وري ا��%K&�=�ا ا��$," Zا��ري �Jد ا���د ) 1.25  1-2� F�
                                                          .، و>�ّ"ف '


� ه�Q ا��%�رةP���K< X ذرة ا��$,") 0.75  2-2' ،��Dذر>� ه��رو P� �����                              . أن >$45 را����� >�Kه
� و ذرة ا��$,"أ) 1.25  3-2�Dذر>� ا�=��رو �=�S� < �7 ا��2345 ا����T &' X>3�� ذج��� .KJ �=
S;� /0 ،.             

  
  
  

   ) �$#7(   1فيزياء فيزياء فيزياء فيزياء             
    

         .
T /KD �� F%��D � *�3 �ن ا�   )S (و W�K� F�

�وران �Jل ��Hر  ، وm = 500 gآ�� ���X)∆ (     �� "�3 Y��0 ��:أ  
�"آX 4,�رQ  ا���  O  ا�$���         �' ��%<G �:�K���� OG = 6 cm.       
          /K5ازن ا��< C
' [:�H� (S) �=<�\ ة�X &�
K�� F �=�=5��    θ = 30° ا�4اوOP �3أ:���، S� 3 ]�Jن ا��F  /���K ����0 و
�P ا����Kى ا^:��           . 

5��'� ا���رو�� اD"د ) 0.75  1�
C ا�' ��%��                                                  .})S(ا�K5/ {ا���ى ا�
2  1.00 (   ،���D#ا �Xور C
' F
�̀;� ا>�5ه�ت ��5=�ت ه�Q ا���ى '
C ا�* � ��� ��              P   
         ���Da� ��
�< P�                                                                      .          F       θ      O     G                       

3  1.00(Y��0 ر�H�
�وران �Jل � ���X /KD ازن��� �� ∆) (                        .           ذآS" ���*"وط ا���

�%"ه$� ا��4وم، �̀�� أن >�%�")2.00  4 d�%���  F ه� 
θsin10

3 gm
F = . .KJاF.                   (S)           

��4ات�Jد ) 2.25  5���5=� ا���ة  R /K5ا� C
  .                                    (S) ا��� �3%�=� ا���Hر '
  .0P = 20 cm و ، g = 10 N.Kg -1\�ة ا�;����  :         ����  
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  )�$#  6 ( 2فيزياء فيزياء فيزياء فيزياء            

  
     �B��"=آ ���� ��
C ا���ا�� ' ��� � ��B��"=دارة آ "%���      )G( PG�Xو "��K�
���ر ا��   

���ر      �     )k( �B��"=ح آ�%,���")L( و"�%��;� :�)A( وD=�ز أ� F%��D � *ا�  .  

1  1.00(��B��"=ذي إ�"ة :� دارة آ "�� "�%�� آ�?�� ا���Eام D=�ز أS��          .  
2  1.25( W�f�< P� ،�=� ��� �   ار�/ >%���� ا��ارة ا���آ�رة �������ل ر��ز ا��$�T" ا�

      �B��"= ر ا����
� �JM�Tgا CH$�  .     ا�
3  1.50( �S�' I�"= ا��ارة \�ة ا����ر ا� �: "�  .��B ا��ي 3

d �*�ة ا����ر، 0/ أ'&  >�Gh"ا �=�Q ا�*�ة )1.25  4���� اgر>��ب ا��X .KJا .  
��T� :� ا��ارة MNل ا���ة )1.00  5 �� �����   �Jد '�د ا#� �"و��ت ا��� >�E"ق 

 ��$�  .   t = 1 min 20 s∆         ا�4
        ����    :  ��Bا���gا �$H*ا�Ce 1910.6,1 ��" ه�   ، و=−"�%�  .D �2:C = 1,5=�ز ا^

  
   
  
  
  


